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NDA 1 2025 - Revision - Maths - Complex Numbers

If z is any complex number and
iz? +22 —z+i=0, where i = \/—1, then

what is the value of (|z|+1)*? =Y
@ 1 e = i) 4 ()= 040
S Z"-fZZ:/—/:
(©) 81
Ligat 5’0, T=0 =D0+11

2= otyr =
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If z is any complex number and
iz3+22—z+i=0,wherei=w/:1_,then

what is the value of (|z|+1)°?
(@ 1
(b) 4
(©) 81

@) 121

Ans: (b)
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Let z; and z, be two complex numbers

such that q+z =1, then what 1s / % -sz/ - /
21—22 —
2, /ZI - 22/
0

Re(zj+1 equal to ? X ) Z', - 4, -f-l,L,

| Z+7,] = |%-Z / ’
(@) -1 /,1-1/ /’ ’ -’(,,:azﬂé,,
(b)) 4 2 2 2

a +4,) + _ -

© 1 (’ ) (6’ f 6’) - (g %) + (4~ %)
@ 5 | 10,4, + b6 = -4, -24b,

Jl(a,az_f:,bl) = 5 &4, -[-L,Bz =0

.
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4,a,+6,4, +f(______)

._5!_- g q, 'f':‘l_ X 4, "'ZL;J_
2 o ° L 2
a), '“’Lz. 42, - ”’2 az 7 ‘z
ZL " L 2 —A—
4 14, @;’+ b,

Ke

0

_Z,ZL-)H =0+ -
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Let z; and z, be two complex numbers

such that 21 %2 =1, then what is
21 =23
2
Re| — |+1 equal to ?
22 |
(@ -1
(b) 0
(c) 1
(d 5

Ans: (c)
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If o#1 is a cube root of unity, then (PYQ)
what is (1+0-02) +(1-0+0?)

equal to?
(a) 2100 ;2 ( 1 100 2 190
b 100
”2“’ 2 " 100
- 2 2
() 2'°° ( w _w) t (lfw-w)

/00 100
(d) —219° ("2&32) f (-w - w)

(_.?)Ioowloo . (_2),00(50),00

/ 100 ]
‘?oo(wzoofwloty . (w 4 w,)
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If o#1 is a cube root of unity, then (PYQ)
what is (1+0-02%)% +(1-0+0?%)°°
equal to?
(ﬂ) 2100 [.IJ2

(c) 2100

(@ -2100

Ans: (d)
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If x, y and z are the cube roots of unity, (PYQ)
then what is the value of xy + yz +2zx ?

- 9 2_
() 0 x=1 7 S R N
(b) 1

2 2
) 2 [ 0w + W7 .|
A

e o+ Wt
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If x, y and z are the cube roots of unity, (PYQ)

then what is the value of xy + yz +zx ?
(@ 0
(b) 1
(c) 2

d .3

Ans: (a)



NDA 1 2025 - Revision - Maths - Complex Numbers

Q)Let z; and z, be two non-zero complex numbers such that

| |

|21|=|22|= z_+z_ =2

| 1 2 Z, 3 /Z,/
What is the value of | z; +z, | ? T/ i

2
(a) 8 (b) 4 /Zz/
) 2 (d 1
/Z, zz/ - /Z,//Z,_/

YREN -3
Z}Z,_ l

(217, - 2 > |7 12/ S /z,-fZ,,j - ‘““22

/Z,llzz/ 473
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Q)Let z; and z, be two non-zero complex numbers such that

1 1
i i —

Z1 2y
What is the value of | z; +z, | ?

(@) 8 (b) 4
© 2 (d) 1

|21|=|32|= =2

Ans: (a)
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Q) What is one of the values of /i +./—j ?
@ 2 (b) 0

©) J_r%i (d) il—‘;
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Q) What is one of the values of /i +./—j ?
@ 2 (b) 0

© +L @

1-1
+ +—
J2 V2

Ans: (a)
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Q)If 1,0,0° are the three cube roots of unity, then what

(am6 +bw? + sz)

1S equal to?
(b+cmm+am3) 1 mo‘ + [,wh cwi
2 0 4 w?
© o @ o at bwront

b-+Cw+ aw"

A,z
b +(w + awt

[ A w’-(af-bwmw’l: 1A

w?..

3
W oz
03 -
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[l ewtt bw’ + 7
lo* awt+ b+ (w

4 (aw's btow)
ot

—
-

(awl-fb s cw)

_ @ (Ema(]q’mrdz onbic  root of un‘r’vby, ax ¢ recf/omw/

9,[ e,acﬁ O'ﬂ)QY) =y W= /_ : wt- L
Wt w
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Q)If 1,0,0° are the three cube roots of unity, then what

(am6 +bw? + sz)

1S (b+ URION ar.og) equal to?

a
(@) N (b) b
) o d) @’

Ans: (c)
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1+i\/§

Q) If a= 5

24 + 329
@ 0 (b) 1

(©) -o d) _ 2
o = b\),
3

. then what is the value of 1 + a8 + a0 +

y

(+ Wt Wt |+ wh

=0+ =@

2+ dawt+

Y

4(/+w‘) F

W

Wt -

—I+ﬁé

—1 =30
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_1+i\/§

Q) If a= 5 then what is the value of 1 + a8 + !¢ +
24 + o329
@ 0 (b) 1
©) ~o (d) _ 2

Ans: (c)
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EEEEE

Q)What is 11000 4 j1001 4 ;1002 4 ;1003 eqya] to (where

i=~-1)?
(@) 0 (®) i
(© - (d 1
0 /00D ° ° 93 |
l° (/-f Lt gz-rt) (.S’um o/ confecudive fguf fﬂa{ﬂ

9)[ [' ferm¢ = 0)
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EXAMS

Q)What is 11000 4 j1001 4 ;1002 4 ;1003 eqya] to (where

i=+-1)?
@ 0 (b) 1
© - @ 1

Ans: (a)
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What is the value of the sum

0 el e RIS L)*(t+ - -
. + (1 . - - T
where i = /=17 (é t 1 Pl _f.-) —
0
(a) -2i
o =0 #0+0 = b
fc) 1

(d) 2i
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QA (1304 3) =2

a) 0 ;
b) 2i P41
c) —2i I
d1-—i °3 ’ - ,
1 ° 0+ L bl“ = L
—/ + -z—/-— Z‘Irfl — Z’ -

XAMS
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EXAMS

Q)(i39 + i) =?

j69
a) 0
b) 2i
c) —2i
d)1-i

Ans: (c)
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Q)What 1s the square root of the complex number — 5 + 121 ?
(@) 2 -31 (b) 2+3i

© -2+31 (@ -5 ++/12i

01—5""’5 =8 ,Qéa‘::/g
)
°?€/ = \//2 a":él L\ it
(y0) = (4] o+ (" 42 6
()= (-8t 4 (1)” 4 *3‘)/
-3-31
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Q)What 1s the square root of the complex number — 5 + 121 ?
(@) 2 -31 (b) 2+3i

(© —2+3i (@ -5+4/12i

Ans: (b)
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QIf oo and B are the roots of

x4+ x+1=0, then what Iis i x+/ =0
i(ocfntﬁj)equalto? 2 7"—7 and x-'—j’L (rooff)
j=0

b
S I
3 ' Jo 0 P, ), 2 3 3
Z(drp) = (rplr Wop)r(e) + ('4p)
J = = 3 f (w+w2)7‘(wz+wq} +(w3+w‘)

= 34 (1) +(—i)+(f+:) :@



NDA 1 2025 - Revision - Maths - Complex Numbers

QIf oo and B are the roots
x°+x+1=0  then what

3
E(ch + B7) equal to?
j=0

(a) 8 (0) 6
(c) 4 (d) 2

Ans: (d)

of

1S
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Q)The modulus and principal argument of the complex
1+2i

number are respectivel
1~ (1=} g J
(a) 1,0 (b) 1, 1 (c)2,0 (d) 2, 1
l -]
7= + 2t _ @
|+24

modulus =~ [z = \[I“w" = |

Clh -
- g = _b =0
ardum anf 7 C088 = _,_:_\_/__ §mb _,_ZT 0o ~0 ) (avummf)
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EXAMS

Q)The modulus and principal argument of the complex

1+2i :
number are respectively

1—(1-1i)°
(a) 1,0 (b) 1, 1 (c)2,0 (d) 2, 1

Ans: (a)
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Q)Ifz is a complex number such that z + z~! = 1, then what is
the value of 297 + 227 2

(@ 1 (b) -1
© 2 (d 2 z9 4+ 219
2+ g = | (_w}7‘9+ (-w)-”
<+ L =
B L
TXr) -7 =0 W
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Q)Ifz is a complex number such that z + z~! = 1, then what is
the value of 222 + 2797 ?

@ 1 (b) -1
©) 2 d -2

Ans: (d)
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(=]

EXAMS

Q)Consider the following statements
. (@®+1)7"+w=0
. (0% + 1)1° = p% for some prime number p, where w # 1

Which of the above statement(s) is/are correct?
a) Only |

b) Only Il
c) Both | &Il
d) Neither | norll
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(=]

EXAMS

Q)Consider the following statements
. (@®+1)7"+w=0
. (0% + 1)1° = p° for some prime number p, where w # 1

Which of the above statement(s) is/are correct?
a) Only |

b) Only Il
c) Both | &Il
d) Neither | norll

Ans: (b)
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Q)If y = cos 0 + isin 0, then the value of y + Zis
a) 2cos® g

b) 2sin 6
c) 2cosecH
d) 2tan®
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Q)If y = cos 0 + isin 0, then the value of y + Zis
a) 2cos® g

b) 2sin 6
c) 2cosecH
d) 2tan®

Ans: (a)

XAMS
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Q)IfA={xeZ: x3_1 =0} and B= {x € Z:x*+x+1=0}, where
Z 1s set of complex numbers, then what is A n B equal to ?

(@) Null set

4 4

—1++/31 —1-4/31i
© :

©)

} (d)

y

(14431 —1-431i
) i )

o

2 2

;1+«/§i 1—«/51}
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Q)IfA={xeZ: x3_1 =0} and B= {x € Z:x*+x+1=0}, where
Z 1s set of complex numbers, then what is A n B equal to ?

(@) Null set

4 4

—1++/31 —1-4/31i
© :

Ans: (b)

©)

} (d)

y

(_1+4/31 —1—\/51}
.

2

2 2

;1+«/§i 1—«/51}
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Q)Which one of the following is correct in respect of the
cube roots of unity?
(a) They are collinear

(b) They lie on a circle of radius +/3
(c) They form an equilateral triangle
(

d) None of the above
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Q)Which one of the following is correct in respect of the
cube roots of unity?
(a) They are collinear

(b) They lie on a circle of radius +/3
(c) They form an equilateral triangle
(

d) None of the above

Ans: (c)
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. \107 \L07
Q)If z = ﬁ_{_l + ﬁ_l _then what 1s the
2 2 2 2

1maginary part of z equal to?
1
@ 0 b) =

2
3
(c) g ) 1
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. \107 \L07
Q)If z = ﬁ_{_l + ﬁ_l _then what 1s the
2 2 2 2

1maginary part of z equal to?
1
@ 0 b) =

2
3
(c) %— ) 1

Ans: (a)
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Q) Let z=13(1 +1) be a complex number. What is its argument?

@ = (b)

kid d
© -4 @

_,;‘L; 3
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Q) Let z=13(1 +1) be a complex number. What is its argument?

@ = (b)

T
© - 2 (d)

_,;‘L; 3

Ans: (c)
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Q)If 1, o, 2 are the cube roots of unity, then the value

of 1+ )1+ 0?)(1+o*)(1+a®) is

@ -l b) 0
c) 1 (d) 2
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Q)If 1, o, 2 are the cube roots of unity, then the value

of 1+ )1+ 0?)(1+o*)(1+a®) is

@ -l b) 0
c) 1 (d) 2

Ans: (c)
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Q)If z? + z +1 = 0, where zis complex number, then the value

of

2 2 2 2
(z+l] +(22+L2] +[z3+%] tonn, +[ZG+'L6'] 1S
(a) 18 (b) 4

(©) 6 (d 12
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Q)If z° + z+1=0, where zis complex number, then the value

of

[z+32+(zz+z%]2+[z3+z%]2+ ......... +(z6 +ZL6]2 is
@ 13 (b) 4

© 6 (d) 12

Ans: (d)
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